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SA - HY - S9I(3) - HIRAY - BAS o &r 7| 3 o HDS2
EXEE 1,362,918 1,209,978 162,940
= 57,657 17,694 39,963
Al 2,900 0 2,900
- 1,302,361 1,192,284 110,077
FoEo NNy =29 1,298,023 1,154,782 143,241
= 57,657 17,694 39,963
Al 2,900 0 2,900
- 1,237,466 1,137,088 100,378
AHIRAAMEIA KIS 73,120 40,120 33,000
NHSE 2 51,180 21,180 30,000
405 AHaHE = 30,000 0 30,000
01 It =S F=H 30,000 0 30,000
INESESE £1al Rt 30,000 0 30,000
aNSS =3l 30,000,000 *1set 30,000 0 30,000
FSAMSHY 2t 3,000 0 3,000
201 et 3| 3,000 0 3,000
01 AtR2tc|Hl 3,000 0 3,000
SUSHAL, SHEXE HE WH
5,000 *600H 3,000 0 3,000
FAEE ALY 172,048 170,636 1,412
Al 2,900 0 2,900
- 169,148 170,636 1,488
FAEE A 2l 172,048 170,636 1,412
Al 2,900 0 2,900
- 169,148 170,636 A1,488
201 Zet=Ehl 19,300 18,400 900
Al 900 0 900
- 18,400 18,400 0
01 AtR2te|Hl 18,700 17,800 900
C2EHFA 2 XE 900 0 900
Al 900 0 900
401 Al HIZ S OHbI 65,338 63,338 2,000
Al 2,000 0 2,000
- 63,338 63,338 0
01 Al&HI 65,338 63,338 2,000
ZAEZ SR AREX
100,000 +20H 2,000 0 2,000
Al 2,000 0 2,000
405 AtatE = 2,412 3,900 1,488
01 TR ESFSHI 2,412 3,900 A1,488
FAHBAIE 2tel KAIS S| 204
33 2,412,0002 2,412 3,900 1,488
KETHEAL AFS 978,239 869,410 108,829
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SA -3 - SA(3) - MISAY - B85 Oi &k N3 A Hws2
= 39,963 0 39,963
2 938,276 869,410 68,866
RETHEAL At 22| 978,239 869,410 108,829
= 39,963 0 39,963
2 938,276 869,410 68,866
201 LBr2 | 21,928 15,700 6,228
= 3,663 0 3,663
2 18,265 15,700 2,565
CEDT 21,928 15,700 6,228
NHWEA E2H S 2,359 1,000 1,359
oMY, BES PO, DEBH 242

2 2,359,000 2,359 1,000 1,359
= 1,359 0 1,359
= 1,000 1,000 0
SN IIEE 5 242 1,760 0 1,760
= 1,760 0 1,760

RIRTHEAALY S204AHI
8,000 x4 *173] 544 0 544
= 544 0 544
TRUEAAIS EHS ZHEIL 242 2,565 0 2,565
301 LBIEHI 920,011 853,710 66,301
14 JIEHE A 920,011 853,710 66,301
NEWEIVE = 2H 920,010, 1202 920,011 853,710 66,301
308 XHXI SISO/ F 3,300 0 3,300
= 3,300 0 3,300
13 21 HSUICheHZ A E SIS ALY 3,300 0 3,300
220N NEHEASS 448 3,300 0 3,300
= 3,300 0 3,300
HH2AAU(EXNHED) 64,772 55,196 9,576
= 2| 64,772 55,196 9,576
1= 2| 64,772 55,196 9,576
202 01t 47,880 38,304 9,576
01 ZUH oA 47,880 38,304 9,576
=l EX0Y| 2 47,880,002 47,880 38,304 9,576
Wegs(ENRLS ) 123 0 123
SHEXE 123 0 123
EESTEE 123 0 123
802 Bret2IEt 123 0 123
NERCEST= 101 0 101
TR EAA 2DSF2 01X 83 0 83
HEBAIXIIZAIAR 2DEXS 01K 18 0 18
R Al- CHIEZ20HE3 22 0 2
ZOT2 AL AHIBES OIXF 19 0 19
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